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Calculer les intégrales suivantes.
On donnera la valeur exacte puis éventuellement une valeur approchée à 10-3.

	A =EQ \s\do10(\i\in(\d\ba2()1;\d\fo1()2;\s\up20( )\s\up10()))x2 dx
	B =EQ \s\do10(\i\in(\d\ba2()2;\d\fo1()4;\s\up20( )\s\up10()))EQ \s\do1(\f(dx;x²))

	C = EQ \s\do10(\i\in(\d\ba2()0;\d\fo1()1;\s\up20( )\s\up10()))e EQ \s\up4(x) dx
	D = EQ \s\do10(\i\in(\d\ba2()0;\d\fo1()2;\s\up20( )\s\up10()))e2x dx

	E = EQ \s\do10(\i\in(\d\ba2()-1;\d\fo1()1;\s\up20( )\s\up10()))e-x dx
	F = EQ \s\do10(\i\in(\d\ba2()1;\d\fo1()e;\s\up20( )\s\up10()))s\do1(\f(1;x))EQ \b\bc\((\a\ac(   + 1))
dx




















































































































































































































